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FA: 2eMS
M FSSo0=N HE
tel: 23ls 2|4 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
14 IIEt2 8= 320,000 310,000 10,000
OFSES N
155,000,000& 22| 310,000
OZ=2l 23 sdgs A2 10,000
INEEYS DAL 550,000 340,000 210,000
201 et 3| 40,000 0 40,000
03 A2 I 40,000 0 40,000
O LA IR 40,000
207 ARl 10,000 0 10,000
01 HESHI 10,000 0 10,000
OAERSHH 2208 HH HREA 10,000
307 el2tol & 500,000 340,000 160,000
04 QIZIHAIALE 2 & 500,000 320,000 180,000
O A 232l 300,000
OAt E3HA 200,000
NiAtel 2st0lsns 24835 X3 18,000 18,000 0
201 =3 18,000 18,000
03 A2 I 18,000 18,000
O=Rstuss St 88 s 18,000
ZotHl AL X1 214,750 176,750 38,000
201 Ler23| 16,250 16,250 0
01 At2teltl 6,250 6,250 0
O=3til=dRFa el 2,000
O=NZEHl=2l 1,575
O2t0=g RN HZZH 2,675
03 A=l 10,000 10,000 0
O=3t, 0= A K& 10,000
203 HE=H] 2,500 2,500
03 A= PR FAI| 2,500 2,500
OZME AP = 2,500
307 @I2t01 & 196,000 158,000 38,000
02 QIHEHAIEE X 161,000 123,000 38,000
OAlz=n4 29 6,000
O&= ZI3EUz 15,000
OSEAMEIZIIZEUE A 3,000
OAOIE JHAI 4,000
Ogazedd 28 & a3z I 13,000
Oobts 2z=Al 6,000
OXZetH S%43] 3,000
O&= =9 ZAll=l 30,000
O=2FSIIH 10,000
Ogalz <Lelit2 FstAl 6,000
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FA: 2eMS
M FSSo0=N HE
tel: 23ls 2|4 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 37,035
s 100,000
02 2IZHB A E £ 137,035 105,814 31,221
Odg=aiessal N3 137,035
= 37,035
o 100,000
2= Il=x =Xl 90,000 90,000
307 @I2t01 & 90,000 90,000
02 QB HANEEX 90,000 90,000
ogs e =A 90,000
s ZEUES =X 10,000 10,000 0
307 212+01& 10,000 10,000
02 2B HAHE L 10,000 10,000
O3 38lEs Z 10,000
SAE 2o EE A 160,000 125,000 35,000
= 64,000
[ 28,800
Ea 67,200
307 glztol & 160,000 125,000 35,000
= 64,000
s 28,800
s 67,200
02 LB AAHEE 160,000 125,000 35,000
OZWAE 23 S ALY 160,000
= 64,000
S 28,800
o 67,200
S3ESAIE "Bt e € 5,300 5,300 0
[ 1,590
Ea 3,710
201 el 5,300 5,300 0
= 1,590
= 3,710
03 A2 Y] 5,300 5,300 0
O=22bt U= & XA 5,300
= 1,590
Ea 3,710
SEEIIMN HsES ANIFML(EX) 16,900 16,900 0
== 6,760
o 10,140
301 2= 16,900 16,900 0
[ 6,760
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SN 28HSD
3 ASE3=NE =5
tel: 23ls 2|4 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 10,140
14 0Bt 243 16,900 16,900 0
ORE=2N dsgs AN3AY 16,900
s 6,760
s 10,140
Ml #AY X2 10,000 10,000 0
& 5,000
= 5,000
307 glztol & 10,000 10,000 0
= 5,000
o 5,000
02 2IZHBYAIHE & 10,000 10,000 0
ORNdI&&AIS X2 10,000
= 5,000
o 5,000
HdES=0] st T2 15,000 15,000 0
& 4,500
Ea 10,500
307 elztol & 15,000 15,000 0
= 4,500
= 10,500
02 2B YA HE X 15,000 15,000 0
OdS=0| slist MEx22 e 15,000
= 4,500
Ea 10,500
DEEIY 2SAY 167,500 92,500 75,000
= 67,000
= 30,150
[Ea 70,350
307 el2to| & 167,500 92,500 75,000
= 67,000
== 30,150
= 70,350
02 2B YA E X 167,500 92,500 75,000
OS2 EESAY 167,500
= 67,000
[ 30,180
T 70,350
M2 230SDSAL BIXI(2X) 32,000 33,000 21,000
= 12,800
& 5,760
Ea 13,440
101 @124H| 32,000 33,000 A1,000
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FA: 2eMS
M FSSo0=N HE
tel: 23ls 2|4 (SH9 H2)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
01 Al&HI 670,000 670,000 0
O+ dsseld da=2ady &4 670,000
= 300,000
o 370,000
HUSESg2stE2t &4 1,000,000 0 1,000,000
401 Al HIZ S OHYI 1,000,000 1,000,000
01 AlZ28| 1,000,000 1,000,000
OHREE Sg2st32t &4 1,000,000
LAUB0EE =4 458,000 0 458,000
= 229,000
s 229,000
401 Al HIZL 01| 458,000 0 458,000
= 229,000
= 229,000
01 Al&H| 458,000 0 458,000
Ogdz0ge =d 458,000
= 229,000
[Ea 229,000
Zst0=X EoI2stetR =i 544,410 234,400 310,010
Jl 232,671
= 27,911
[Ea 283,828
a2 detdt 29 212,700 11,100 201,600
101 21A4H| 59,540 0 59,540
04 JIZtN2Z2 XS 59,540 59,540
OJIZtHl 22X+ 212 59,540
201 =3 126,160 126,160
01 AtR2t2l] 116,900 116,900
Otig & Z2AS 31,200
OEAD| RAE= 7,200
OdstA 23 75,000
Ot AIE==2 1,500
Ox2gdsta 24 2,000
2 35244l 9,260 0 9,260
OAlZ2gHl 9,260
206 M=l 15,000 15,000
01 MZH| 15,000 15,000
OllE=gN=+ 15,000
308 AtAIEHMSOIE 12,000 11,100 900
07 HAHH 2R 52 12,000 11,100 900
OF2AlUIotAZ 2 12,000
SEERIMs2F0ISH 325,710 214,300 111,410
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SA: SBHSDH
3 ASE3=NE =5
Rl 230=ARY ERIEsEE S EEREE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
7l 232,671
=S 27,911
s 65,128
307 @I2to| & 325,710 214,300 111,410
Jl 232,671
= 27,911
Ea 65,128
02 2B YA HE A 325,710 214,300 111,410
OSE&aoIsa Mg X 325,710
Il 232,671
= 27,911
= 65,128
ZetrsSY M8 1,000 1,000
201 er2 3| 1,000 1,000
01 AtR2t2|HI 1,000 1,000
ORstnesd AM2(EEAHLYI 28 S) 1,000
302 RIE= 5,000 8,000 A3,000
401 AIEHIZ SR 0HYI 5,000 8,000 23,000
01 Al&H| 5,000 8,000 23,000
O330le |A2c 5,000
SR BE 2e) 1,143,800 2,546,100 A1,402,300
= 22,900
= 458,550
= 662,350
22 =Xl 1,143,800 2,546,100 A1,402,300
= 22,900
< 458,550
s 662,350
Z3H 2tel 93,800 87,100 6,700
101 @124H| 30,000 4,600 25,400
M ORINZZE2NSE S 30,000 4,600 25,400
O=2=t 2elels 2¢ 30,000
201 eer23y| 15,800 12,500 3,300
01 AtR2t2|HI 6,000 4,500 1,500
Ot =Al2el 3,000
Ogetsa2etl Uz =8 & 2& 3,000
2 S5=2g4l 9,800 8,000 1,800
O=2=Ht &It EA 1,500
OSEE3M ICTV S&I2s 3,000
O23tM |XZel(MI], =Ee3 ) 5,300
207 ARl 44,000 66,000 /22,000
01 A S| 44,000 66,000 22,000
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FA: 2eMS
B 2594 HE B
Cel: 23 sAl2te EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OgdlZ 017 & ME ERAN =T ES 22,000
02l 2 18 stsd+7EY 22,000
301 EetE2 NS 4,000 4,000
14 0Bt 2a3 4,000 4,000
O=a a2t N2+
100,000 *421x 102 4,000
23 2el(ExX) 150,000 0 150,000
S 75,000
= 75,000
207 ARl 150,000 0 150,000
= 75,000
[Ea 75,000
01 1= 150,000 0 150,000
O s HH2e=L S=d7ES 150,000
= 75,000
o 75,000
SXNE2=H 2434 614,000 624,000 10,000
[ 307,000
T 307,000
401 Al HIZL 201 614,000 624,000 10,000
= 307,000
= 307,000
01 Al&H| 614,000 624,000 10,000
OSEHAMA =HIH| 140,000
= 70,000
Ea 70,000
Oksabls 83| 100,000
== 50,000
o 50,000
Odliger =88] 120,000
= 60,000
= 60,000
OFZAE FHIH| 50,000
S 25,000
o 25,000
OF2AME 2GX S 228 M 10,000
[ 5,000
T 5,000
O=gg =gyl 110,000
= 55,000
[Ea 55,000
Oy 4se=R 14,000
s 7,000
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FA: 2eMS
B 2594 HE B
Cel: 23 sAl2te EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 7,000
OLISAL THISE 23YE & ZHHA 30,000
== 15,000
[Ea 15,000
Ogagfn e =HE] 40,000
= 20,000
= 20,000
Ztl B+ & =3l 100,000 70,000 30,000
401 AIEHIX 20HH 100,000 70,000 30,000
01 A28l 100,000 70,000 30,000
O2stM 2=+ & I 50,000
O&FAX AS 2elAt 2122 SA 50,000
Jot=std gEas 10,000 10,000 0
201 er23| 10,000 10,000
02 S5=2g4l 10,000 10,000
OJtor2=Hd Aldzg2lal g2l 10,000
HSAME SMHAIAE RAE% 29,000 22,000 7,000
= 14,500
& 7,250
= 7,250
201 er23 | 29,000 22,000 7,000
= 14,500
< 7,250
[Ea 7,250
2 S5=2g4l 29,000 22,000 7,000
OHSAE SHAIAE RXE= 29,000
= 14,500
s 7,250
s 7,250
HdHJ|IH=2 HFSE HLA 12,000 12,000 0
= 8,400
=S 1,800
s 1,800
101 ©1AH| 2,400 2,400 0
= 1,680
= 360
Ea 360
04 JIZtNZ22 XS 2+ 2,400 2,400 0
O&EcAIIg= FHEY| 2,400
= 1,680
= 360
o 360
401 Al HIZ S OHYI 9,600 9,600 0
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FA: 2eMS
B 2594 HE B
Cel: 23 sAl2te EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 6,720
=S 1,440
s 1,440
01 Al 9,600 9,600 0
OS2 MFeE HHA 9,600
= 6.720
= 1,440
Ea 1,440
SXES MHEXAE 2= 115,000 0 115,000
== 57,500
[Ea 57,500
401 AIEHIZ R 0HYI 115,000 0 115,000
< 57,500
s 57,500
01 Al&H| 115,000 0 115,000
O=x2=2t MHZXAIE 25 115,000
= 57,500
o 57,500
SN2 SAHIGSIIE(QH) HEA 20,000 0 20,000
=S 10,000
s 10,000
401 AIEHIZ SR THYI 20,000 0 20,000
< 10,000
[Ea 10,000
01 Al&HI 20,000 0 20,000
OSXE23M SAHAIIE(2) HLAI 20,000
= 10,000
= 10,000
Hsdsgsgdat 9,965,915 9,242,289 723,626
Jl 1,855,290
= 3,421,556
[Ea 4,689,069
dEHSSHEE 9,965,915 9,242,289 723,626
Il 1,855,290
= 3,421,556
= 4,689,069
SSH=EAE JIs22 137,000 67,000 70,000
201 er2 3| 42,000 42,000 0
02 S3=4gl 42,000 42,000 0
OHOIE=E HIIRs S 30,000
OAOIE=EE Y| 12,000
401 AIEHIZ SR HYI 95,000 25,000 70,000
01 Al&H| 95,000 25,000 70,000
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SN 23S
3 MINSEHYS
Chol: MBS D2IEE (Shol: % 2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
401 AlZHIZL SO 2,900,000 1,000,000 1,900,000
= 1,970,000
= 930,000
01 Al&H| 2,900,000 1,000,000 1,900,000
Ofct=E =MZ=d EX28dH HE 2,900,000
= 1,970,000
o 930,000
ez Bl MIsME A8 1,500,000 0 1,500,000
Jl 1,000,000
[Ea 500,000
401 AlEHIZ SO 1,500,000 0 1,500,000
Jl 1,000,000
= 500,000
01 Al&H| 1,500,000 0 1,500,000
OgalZ Ll MsHE AHE 1,500,000
Jl 1,000,000
[Ea 500,000
dHetSE SEARE /S 22 1,249,600 1,249,600 0
s 1,049,600
s 200,000
101 e124d| 856,283 899,682 A\43,399
[ 771,276
Ea 85,007
M ORINZZ2NSE S 856,283 899,682 A43,399
OAHH 758,336
—Jlzs 466,977
= 925 3,015,700« 1H =122 36,189
=S 36,189
= 2122 3,628, 1002« 1H* 122 43,533
= 43,538
s 1923 3,511,200 18« 122 42,136
= 42,135
9= 1823 2,505,200« 1&~12& 30,063
< 30,063
9= 1123 2,361,700 «1&~ 128 28,341
== 28,341
9= 9= = 2,210, 7002« 1E =122 26,529
=S 26,529
9= 7e= 2,046,500« 1H« 123 24,558
= 24,558
&<l 3152(3)
4,270,100 «3H* 123 153,724
= 153,724
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SN 2SHSD
3 MINSEHYS
ool dEHssutEy (Ete &
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
=38 1123 2,486,2002 1 +12& 29,835
= 29,835
=4 823 2,254,800« 18~ 12& 27,058
& 27,058
=8 623 2,083,900« 1&~12& 25,007
< 25,007
—H2ay 29.648
102 01&4(5) 19,949,600 x50%*22] 19,950
< 19,950
9= DIeH(2) 4,866,900 *40%*22] 3,894
s 3,894
- 7& DIEK(3) 6,951,700 «30%*22] 4,172
= 4,172
- 54 0lgt 2,046,500 «20%+23] 819
= 819
34 0|t 3,015,700 x10%*22] 604
S 604
24 ojet 2,083,900 x5h*22] 209
[ 209
—JtE=4 7,440
- B A 40,0003 +5E~ 123 2,400
& 2,400
S 20,0002 «8& =122 1,920
== 1,920
« A 20,0002 x2& 123 480
= 480
=V PUE] 60,0002 x2& * 12 1,440
= 1,440
- AU AHA 100,000 x1&* 122 1,200
= 1,200
—=22+E 44,544
62 12,3211 #43A1 2t 122 6,358
= 6,358
I 11, 13022 #43A1 2t 122 11,487
[ 11,487
92 9, 1602 x4 *43A| 2+ 123 18,907
== 18,907
- 3% 12,1192 +3E *10A1 2+ 123 4,363
= 4,363
=3 9,523 +x3Z*10AI12Hx 123 3,429
= 3,429
—d2sgtt=s 10,800
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2A:

M HSTSAAU
oiel: METSZ2IEE CERE
SA - B GR(31) - HIRAY - BES il &k e HlmS2
-5 0laf 7@ 012t
50,0002 18« 123 600
& 600
- 74 014k 104 O1gt
60,0002 x5« 123 3,600
& 3,600
- 154 014 20 OIgt
80,0003 x2H 123 1,920
& 1,920
- 254 Ol& 130,000&*3H + 122 4,680
= 4,680
—ZASAHI 140,000& 13K+ 122 21,840
= 21,840
—erE syl 50,0002 x6H~ 123 3,600
= 3,600
— Az 22| 23,820
6=, B 165,000 x4 H 122 7,920
= 7,920
= 155,000 x2ZH 123 3,720
& 3,720
9=, =& 145,000 x7H* 128 12,180
& 12,180
—GEFOHI 46,702
6295 = 3,015, 7002 *60%*23| 3,619
& 3,619
722183 3,628, 1002 +60%*22| 4,354
= 4,3%4
73198 = 3,511,200 60%*23| 4,214
= 4,214
- 93 18s = 2,505, 200 *60%*23| 3,007
& 3,007
93 NE=E 2,361, 7002 *60%*23] 2,83%
& 2,83
- 9295 = 2,210, 7002 *60%*23| 2,653
& 2,653
9=7s = 2,046,500 60%*22] 2,45
& 2,456
223155 (3)
4,270, 1002 x60%*3F 23 15,373
= 15,373
=d1ss 2,486,200 *60%*23| 2,984
= 2,984
=483 2,254,800 x60%*23] 2,706
= 2,706
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A EstM=s
X

B STEAAAE
CHel: MEBTISZIEE
RN - I BRA(E) - HRA - BES of v A
- =862 S 2,083,900 «60%+*22] 2,501
= 2,501
— Q2 & 11,162
- 62952 3,015, 7002 *86%+1/30% 10! 865
== 865
-72218 8 3,628, 1002 86%+1/30% 10 1,041
& 1,041
75192 3,511,200 86%+1/30% 10 1,007
= 1,007
- 92132 2,505,200 *86%+1/30+ 10 719
S 719
= 2,361,700 *86%+1/30% 10! 678
= 678
- 9298 = 2,210, 7002 x86%+1/30% 10 634
== 634
- 9878 S 2,046,500 +86%+1/30% 102 587
= 587
ERI315=(3)
4,270, 1002 «86%+1/30% 10«3 3,673
< 3,673
=gd1ss

2,486,200 86%+1/30% 102 713
[ 713
- =d8e s 2,254,800 86%+1/30+ 10 647
S 647
- =862 S 2,083,900 *86%+1/30% 10! 598
= 598
—AEE RE= 666,509,620 *9. 5% 63,319
== 63,319
—&X=s & 341,801,810&«1/12 28,484
= 28,484
OAZE 2|y 85,007
—Jl=s 76,9603 x2H x249! 38,327
—a0= 19,470,880 x2H +4/12 12,981
—=aFssg 76,9603 x2& 53 8,18
—gxt=g 76,9603 x2& 152 2,308
—SEFOHI 600,000& x2&H *22] 2,400

—Al2tel=¢
14,4302 x28 *1BA1 2H 123 5,1%
—522f+g 76,9602 x2& x1.5¢ 12 2,7mM
—AHEE RE= 72,138,590& 9. 5% 6,854
—&x= &g 72,138,590&*1/12 6,012
OAY 2822Y 12,940
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M 2SI
B YRRELAAG
Eelr MBSty (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
A ESIEEEET
190,000 x4 +32+53] 11,400
= 11,400
—AHE 290z
76,9602 x4 H 5 1,540
= 1,540
201 Ler23 | 320,317 334,918 14,601
== 263,324
= 56,993
01 At2teltl 186,255 184,026 2,229
OZ2dI0I&E & #AX 94,735
= 78,400
[Ea 16,335
OAIFEEl & 223 FHl 30,000
== 30,000
OsJ12el g3l 400
O&=J| E2eule 440,000 22 880
OHAAE A= 7Y
210,000 x6H +23] 2,520
ogxg 57,720
—=7 60,0002 x22H *3652 43,800
= 43,800
—2 X 60,0003 x2Z*116& 13,920
= 13,920
02 S5=24g4l 130,732 147,592 16,860
OodJles 6,000,000& «12& 72,000
= 72,000
OCIES Al & tv =tlZ
360,000 122 4,320
= 4,320
Odzle=s & RHEsE S
60,0002« 12& 720
= 720
Osdl el 187,000& 122 2,244
== 2,244
O&J|etd 2|84 260,000 x 12 3,120
=S 3,120
Odatx=A2el| 330,000& 12 3,960
= 3,960
OAgAIE A 2elH] 200,000 * 122 2,400
= 2,400
OV & fo1FHIES 320,000 * 122 3,840
< 3,840
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2A:

3 MINSEHYS
Chol: METISR2EE (choy: @2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OdiE & 2AFAH 0 FA2eldl
600,000 63 3,600
= 3,600
OdZH| 1,000,000& *32 3,000
OA NS 2] 48
O3J| 2&t Al 300
Oz =ZHM 90,0002 *23] 180
OFslZ 2 283 HABY
500,000& *22] 1,000
= 1,000
OAlEE & |FAE+21 30,000
04 XEE=SANM Al 3,330 3,300 30
O=XEAE 3,330
—Jl= 2,600
HIHH 750,000 3 2,250
2Ex 350,000 *1 350
— X+ 100,000& 2 200
—S2IE 50,0003 =2 100
—2&EOE 430
204 o1& 200,0002 x2H 400
44 0|8t 30,0002 +14 30
202 04l 2,000 5,000 23,000
01 2LHoIH 2,000 5,000 /3,000
OAZE gf =X 2,000
206 M=l 3,000 3,000
01 M=4l 3,000 3,000
O Al 1,000,000 *32] 3,000
401 Al HIZ R OHHI 35,000 35,000
01 AlZ8| 35,000 35,000
OAlEE & |FAEx212 36,000
405 AHAHE S 33,000 10,000 23,000
== 15,000
= 18,000
01 ML ESF SHI 33,000 10,000 23,000
OAFEEHl & &1 ¢ 15,000
= 15,000
Os4 g 2UH 2L
2,000, 0002 *9CH 18,000
Hel=E NS 8 28 346,000 346,000 0
= 346,000
101 @124H| 161,460 248,990 A\87,530
= 161,460
04 JIZtN2 2N S 2 161,460 248,990 A\87,530
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DA SEHSH
M HEI=FH2LG
Chol: METISR2EE (cre): 2ig
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
OH LA ol4H| 101,378
—J=23 55,479
9285 = 2,210, 700318 x 128 26,529
= 26,529
HAAE 1052
2,412, 5003 128 x 128 28,950
= 28,950
—Ha2srg 8,3%
10 0I2H2)
4,663, 9003 *2H x45%*23| 8,396
c 8,396
—d2Y JRt3 1,200
54 0Ol&k 109 0I5t
50,0003 x2H 122 1,200
= 1,200
- E 3,360
92(1%), FEIH()
140,000& 2= x 128 3,360
= 3,360
=] 3,720
92(1Y), HIZFEH(1Y)
155,000&x2H x 128 3,720
& 3,720
—JIEE 2,640
- BHS A 40,0003 19+ 12 480
o= 480
)/ IPNIE 20,0003 x1H*12& 240
= 240
- SR A 60,0003 x 1 =122 720
< 720
- SURHAHA 100,000& 1 x 128 1,200
= 1,200
—Z 22 7,082
9= 9,032& x1H+20A| 2H* 122 2,168
= 2,168
HAZE 9,523 1 #43A| 2t*12& 4,914
& 4,914
—YHESIH| 5,548
9=295 = 2,210,700 & +60%*23| 2,653
& 2,653
HIAZE 0&3
2,412,500 +60%*23| 2,895
& 2,895
— D2 A 1,989
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SEAk M=
B YRRELAAG
el eSSt (e A
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
9= 95 2,210, 7002 *86%+1/30+ 152! 951
= 951
EEEE]
2,412,500 «86%+1/30% 15 1,038
= 1,038
—S S (HAYRY)
50,000 18 * 122 600
= 600
—4EE FES 83,243,870 9. 5% 7,909
< 7,909
—Ex=s HE 41,452, 100&*1/12 3,455
s 3,455
OgEx 1Ad| 43,402
—Jl2=s 76,9603 x1H#243 18,702
== 18,702
—d03 24,126,960 184/ 12 8,043
= 8,043
—ReF5sY 76,9603 x 1 #50== 3,848
= 3,848
— ¢ x==g 76,9602 18 x15& 1,155
= 1,156
— Aol A
14,4302 x 1+ 1BAI 2H 122 2,598
S 2,598
—522fg 76,960 x1H*1.5+ 128 1,386
< 1,386
—HE3JHI 600,000% x 12 +23] 1,200
=S 1,200
—4U2E R8s 36,275,9602 9. 5% 3,447
= 3,447
—gx=s & 36,275,960&*1/12 3,023
= 3,023
OLAIAAIS Q12 16,680
—&=d =0 Hg ARy
190,000 x5 ZH x4 2«33 11,400
= 11,400
—d=d MO SH A2XY Ry
190,000 *3Z 22 +23 2,280
= 2,280
—23E MO 2 A4EZAHY CIRY
150,0002 x38 2 & +23 1,800
= 1,800
—d=d SEIIAY URY
100,000 x4 & 12 32] 1,200
= 1,200
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FA: 2SI
3 MINSEHYS
Chol: MBS D2IEE (Shol: % 2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 70,830 66,690 4,140
= 70,830
01 At22t2l] 16,434 19,794 A3,360
OFEZE M=7Y 200,0002 14 200
< 200
OZAH| 60,0003 »119& 7,140
== 7,140
Oogd=d 2823 7
674,500 * 122 8,094
=S 8,004
Og33HIPL (g 2 228 7¢)
1,000,000& %12 1,000
= 1,000
2 5234l 54,39%6 46,196 8,200
OFSPIEei=) 1,800,000& * 12& 21,600
= 21,600
Odote= 2= 100,000& ~12& 1,200
= 1,200
Odzt & QY = 150,000 * 12 1,800
< 1,800
O&Jerd el 275,000 * 122 3,300
== 3,300
Osd| =Al2eltl 177,000& 122 2,124
=S 2,124
Oselgl(CCTV) |2l
319,000 x 122 3,828
= 3,828
Oagiotdae], &s)ls - S84 84
650,000& *4= 7| 2,600
= 2,600
O&=J| 2= 174,000~ 12& 2,088
= 2,088
O=Jl, M| ez
504,000 x4= | 2,376
= 2,376
OZHIO0IXl FAl2cH| 110,000« 12& 1,320
< 1,320
Oetotelxt gt = 45,0002 *4CH* 122 2,160
== 2,160
OAld= & FAE+2clb]
2,000,000& %52 10,000
s 10,000
202 04t 1,920 1,920 0
= 1,920
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SN 23S
3 MINSEHYS
Chol: METISR2EE (choy: @2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 2LHoIH 1,920 1,920 0
oY= g7 =X 1,920
= 1,920
206 MH=HI 4,000 1,200 2,800
= 4,000
01 M=4l 4,000 1,200 2,800
OM=z8l 4,000
— SOl Al & EHI(s9F) 7Y
1,500,000& 22 3,000
= 3,000
—dJ1& MO &2 2o 7
1,000,0002 %12 1,000
< 1,000
401 Al HIZ R 0HbI 103,800 0 103,800
== 103,800
01 Al&H| 103,800 0 103,800
OY2H U Y& YT XY
80,000,000 x 14 80,000
=S 80,000
O=21 2 M= 12,000,000& * 14 12,000
= 12,000
oNgs 24 Wi 11,800,000 * 14| 11,800
= 11,800
405 KHaHE SH 3,990 27,200 A23,210
< 3,990
01 MM ESFSHI 3,990 27,200 A23,210
OXHIRH =S FSHI 3,990
—ZRH & I 7Y
1,500,000 22 3,000
< 3,000
—SESCAI 28 7Y
990,000 *1CH 990
< 990
2EH M2 2l 28 78,000 78,000
101 21AH| 43,000 43,000
04 JIZtN2Z2XNSE+ 43,000 43,000
O2EY N2 22l 29 35,000
OFx &8 Ry 8,000
201 er23| 35,000 35,000
01 At2teltl 5,000 5,000
OZ&H WSE3HH 28 5,000
02 S3=gHl 30,000 0 30,000
(OFSPIETE= 18,000
OFER23 1,200
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OxYASI|s FIIZAHIFLEL 6 =)
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OAlg&e| || 10,000
401 Al HIZ R 0HbI 66,000 0 66,000
01 AlZ8| 66,000 0 66,000
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01 AL =S F=H 330 0 330
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SFRUAYENESE 2Acl2g 47,230 0 47,230
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201 etz 3| 10,400 0 10,400
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Oge=d S| 2,000
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100,000« 12& 1,200
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206 M=l 3,000 0 3,000
01 MZH| 3,000 0 3,000
Tddc s9F 7Y 3,000
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Oagetd e 29 3,950
ORIFHIANAE ES 5,800
Osdetdae| 89 1,600
o&lerd e 29 3,840
o&IIe3 4,300,000 ~12& 51,600
Odotee= 900,000& * 122 10,800
Oz 8zl & o X TADIA 23 10,800
Odgzt & ord 2|3l
100,000& %12 100
O=E otd FHOIFE (&,518H1)
5,500,000& 22 11,000
OXlotM =2 HAES
1,000,000 *23] 2,000
OXgPISHENSE L 2,000
OZoMI2 eReldL Y
5,000,000& 12 5,000
Osdds =g ()
32,000& ~12& 384
OZolglat g5 400,000 %52 2,000
ON&E MEXE |7 & RAZAI(MEE
=) 1,500
206 M=Hl 4,000 3,500 500
01 MHZHI 4,000 3,500 500
O&II A 223 2 2,000
ONz= s & =g Hlg 728 2,000
TR 2AIE EF 60,000 280,000 /220,000
401 AIEHIX R0 60,000 280,000 220,000
01 AlZ2H| 60,000 280,000 220,000
OZoMI32 L, ARAE B 20,000
OAIEZ EHAE 40,000,000& *14] 40,000
CHE2E 2 SASIAE 1,350,064 1,222,994 127,070
= 55,000
S 637,245
= 657,819
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[ 637,245
Ea 657,819
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OAld2= 25,000
OZEH FAHEH & ste32t &d 30,000
405 AtaHE = 85,000 75,000 10,000
01 TR ESFISHI 10,000 10,000 0
OXtzd =25 7 10,000
02 A bl 75,000 65,000 10,000
oxz7e 75,000
~Z0/% 79 70,000
~ XX 2l 5,000
38 H2T A2 2 XA(EX) 123,150 116,480 6,670
== 36,945
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201 =3 6,000 5,600 400
< 1,800
= 4,200
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